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$-24 2023 029 039 11A] 198 40% 15 A= HH ojgd x5
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1. U9 370 800 800 0|39k e3], 21H] @ 100,000 «8W= 800,000
2.3 Yy 1,500 1,200 300
1.8 2 1,500 1,200 300

1. A& 3] 1,340 1,040 300 | SR %--dH] 500,000 #13]= 500,000

Srw shuste] 9-odH] @ 30,0009 %28 = 840,000
2. 4N 5] 0 160 -160

3. EAALG A5 160 0 160|355 stmzte] thabu] ¢ 80,0009 x23]= 160,000
7.3 AR 1,000 1,000 0
1. en)n] 1,000 1,000 0
1. oju]H] 1,000 1,000 0
1.en)n] 1,000 1,000 0

1. dju)n) 1,000 1,000 0|alwl®] @ 1,000,000 13]= 1,000,000

$224 2023 02€ 03Y 11A] 19% 40%
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